

19.  $y = e^{x \cos x} \Rightarrow y' = e^{x \cos x} \cdot \frac{d}{dx}(x \cos x) = e^{x \cos x} [x(-\sin x) + (\cos x) \cdot 1] = e^{x \cos x} (\cos x - x \sin x)$

27. Using Formula 5 and the Chain Rule,  $y = 2^{\sin \pi x} \Rightarrow$

$$y' = 2^{\sin \pi x} (\ln 2) \cdot \frac{d}{dx}(\sin \pi x) = 2^{\sin \pi x} (\ln 2) \cdot \cos \pi x \cdot \pi = 2^{\sin \pi x} (\pi \ln 2) \cos \pi x$$

44. (a)  $F(x) = f(f(x)) \Rightarrow F'(x) = f'(f(x)) \cdot f'(x)$ , so  $F'(2) = f'(f(2)) \cdot f'(2) = f'(1) \cdot 5 = 4 \cdot 5 = 20$ .

(b)  $G(x) = g(g(x)) \Rightarrow G'(x) = g'(g(x)) \cdot g'(x)$ , so  $G'(3) = g'(g(3)) \cdot g'(3) = g'(2) \cdot 9 = 7 \cdot 9 = 63$ .

45. (a)  $u(x) = f(g(x)) \Rightarrow u'(x) = f'(g(x))g'(x)$ . So  $u'(1) = f'(g(1))g'(1) = f'(3)g'(1)$ . To find  $f'(3)$ , note that  $f$  is linear from  $(2, 4)$  to  $(6, 3)$ , so its slope is  $\frac{3-4}{6-2} = -\frac{1}{4}$ . To find  $g'(1)$ , note that  $g$  is linear from  $(0, 6)$  to  $(2, 0)$ , so its slope is  $\frac{0-6}{2-0} = -3$ . Thus,  $f'(3)g'(1) = (-\frac{1}{4})(-3) = \frac{3}{4}$ .

(b)  $v(x) = g(f(x)) \Rightarrow v'(x) = g'(f(x))f'(x)$ . So  $v'(1) = g'(f(1))f'(1) = g'(2)f'(1)$ , which does not exist since  $g'(2)$  does not exist.

(c)  $w(x) = g(g(x)) \Rightarrow w'(x) = g'(g(x))g'(x)$ . So  $w'(1) = g'(g(1))g'(1) = g'(3)g'(1)$ . To find  $g'(3)$ , note that  $g$  is linear from  $(2, 0)$  to  $(5, 2)$ , so its slope is  $\frac{2-0}{5-2} = \frac{2}{3}$ . Thus,  $g'(3)g'(1) = (\frac{2}{3})(-3) = -2$ .